HS 67 Ch 2 HW Due Date: September 21, 2009 12:00 PM
Assigned: 2.2, 2.5 (stemplot not histogram; also do 5-point summary and boxplot) 2.10 (show “sum of squares table” like in Example 2.7 on p. 50; check SD with calculator), 2.12, 2.15. - 2.24 Optional: 2.6
2.2 With all countries included, the mean is x-bar= 76,273 / 38 = $2007.18 per person. 
Without the United States, x-bar = 70,562 / 37 = $1907.08 per person (dropped about $100).
2.5 The mean x-bar = 0.7607, while the median is M = 0.075. 
Stemplot shows a sharp right skew, which accounts for the difference in the mean and median.
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	2.6 Optional

(a) Defensive line 

25|5

26|
27|
28|
29|588

30|0000

31|0
x10

Five-point summary: 255, 296.5, 300, 300, 310
	(b) Offensive line 
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five-point summary: 305, 305, 313.5, 324, 366


(c) The lightest defensive lineman is certainly a low outlier. Among offensive lineman, some students might view the heaviest as an outlier, or perhaps the two heaviest. Even if we ignore the outlier(s), offensive linemen are generally heavier than defensive linemen.
2.10 (a) The mean x-bar = (3175 + 2526 + 1763 + 1090) / 4 = 8554 / 4 = 2138.5 CFU/m3.
(b) Deviations and squared deviations:
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(c) Students should check results with their calculator
2.12 (a) x-bar and s not appropriate: distribution has strong positive skew. 
(b) x-bar and s are fine: symmetric and has no outliers. 
(c) x-bar and s not appropriate: distribution is strongly skewed to the left.

2.15. - 2.24. Answers on p. 698
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